. Complete the table.
Liquid Capacity
L mlL -
1 1,000
;
5 5,000
38 3¢,000
o 49,000
54 5, oL
s 1 2 92,000
3. Solve.

a. 1760mL+40L= Y L T70L0OmL
v Teomi
c. Express the answer in the smaller unit:

25L478mL + 3L 812mL= T9Q

25L YT8mL 29,790 mL
+ 3L §ilml
2% 129 DmL

e. Express the answer in mixed units:

7L 425mL - 547mL= (gL §TImL

i
H%’EML
5471 mL
kv 878 me

e L

2.

Find the missing numbers.

a. 2L500mL = _ 2,900 mL
b. 70L850mL = 19830
& dsiamm = _ IMTF o
d. 2t8m. = _Z008 o
e. 382mL = _ 2 L 3L mL
f. #s003mL = Bo | 3 m

b. 7L-3,400mL= 9 L (s00mL
tleom 3L
3HOML. — HJobuL —> TL

d. Express the answer in the smaller unit:

1L -2L8mt= (5,997 mL

i“", gmL

— 2,008 mL
15”’1"[ 2 ml
f. Express the answer in mixed units:

31L 433mL - 12L 876 mL= [§L 55 Tme

1

35’L T!.ﬁ%wl-

- (2L 81l mL
1§L 557 mL




Directions: Use a tape diagram to model each problem, Solve using a simplifying strategy or an algorithm
and write your answer as a statement.

4. John's mother combined 3,500 milliliters of tropical drink, 3 liters 95 milliliters of ginger ale, and 1 liter
600 milliliters of pineapple juice to make punch.
a. Order the quantity of each drink from least to greatest.

t
3,50DmL = 3| 5C0mL tﬁﬂﬁ' 3 500mlL ‘h‘;Piul
2L A5mL  gingerale
l[ L GO mL ?l.ﬂ-ta_fp[-t

least
b. How much punch did John's mother make?
P 3L 500mL
e 2L a5 mL John's mother
lsl_g.pnm 3L 45wl ltiiJ ‘I___,_I-_L&ML' Mﬂ.&{ %lelsﬂ'll-‘
e TLIS AL ol
e L P
ol o Sl IL” $1a5mL i

5. A family drank 1 liter 210 milliliters of milk at breakfast. If there were 3 liters of milk before breakfast,
how much milk is left?
+ ?ﬁﬂ wal =L

5 3};__\ L Ziowt —® 7L —* 3L
ULI'&L\L#_;#I Ther is \LT790mL mille lelt.

6. Petra’s fish tank contains 2 liters 578 milliliters of water. If the tank can hold
12 liters 455 milliliters of water, how many more milliliters of water does she

need to fill the tank? ?
(7 LH45ESmL ]i,ﬂg'g ml
s e = - 9,578 mL
s i R~
ALS T mr = She needs 2,377 more 'nl.'lu‘lllijlﬂﬁ 3?(.!-‘11'!'{"



